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1. BETMEER

(1) [ fegdx HAF limf(x) =+ > cela,b]

(2)

X—C

[ f(0dx HA a=-o 3 b=w

K[Dfode B #HiB

) limf)=to = [*f(dx =
(2) mf(x) too = j f (x)dx =
3) lim £ (x) = £o0 H lim £ (x) = o0
= [ f(x)dx=
(4) lim f (x) = o0 He1 ce(ab)
= [ f(x)dx=
(5) a=—o = [ f(x)dx=
6) b= = [ f(x)dx=
(7) a=-o H b=w
= [ f(x)dx=
an Bl
o [+ dx_llil;j\/l;dx 2 j:"izdx:nmjlttizdt
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3. FEEHHE:
@) [ fdx=lim |’ f(x)dx
2 #H f(x) REEEC A [T f(x)dx=2["f(x)dx

@) #H f(x) BREFREC BEE [T f()dx F—ER 0

i Bl

[ xax BB [T xdx=—0 B [“xdx=co L [ xdx BEEEE

HIE 1.
Calculate [~ dx
L"’ 1+ x°
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BIRE 2. (FEEIR 3-1)
1
1+e"

Calculate _[Ow dx
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BIRE 3. (FaEEHH] 3-2)
Calculate J.:)efX sin xdx
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BIRE 4. (KEHH] 3-3)
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